AIMS TUTORIAL Integration fundamental formulae

SL.NO | DIFFERENTATION INTEGRATION
1 4 = 0dx=c 5 d _
™ (constant) = 0 J a(xn) — nat1 [x"dx = —c
2 di(kx)zk [(k)dx = kx + c 6 i(ex)=ex [e* dx=e*+c
* dx
d 2\ 2 d _ a*
3 E(x)—Zx f(x)dx=(x7)+c 7 a(a")=a"loga faxdx—loga+c
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4 %(x3)=3x2 f(xz)dx=xs—3+c 8 %(ﬁ):% f%dx=2\/§+c

9 % (logx) = % f%dx = log|x| + ¢ 14 % (cotx) = —cosec?x [ cosec’x dx = —cotx + ¢

10 % G) — _xlz fxiz dx = _% +c 15 % (secx) = secx tanx | J secx tanx dx = secx + ¢

11 % (sinx) = cosx [ cosx dx = sinx+c | 16 % (cosecx) = [ cosecx cotx dx = —cosecx + c
—cosecx cotx
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d _ . i - d =
12 = (cosx) = —sinx {smx dx = —cosx+ | 17 a(loglsecxl) _ tanx [ tanx dx = log|secx| + ¢

13 4 (tanx) = secx Jsec?x dx = tanx + | 18 | L (1og|sinx|) = cotx [ cotx dx =log|sinx| + c
dx c dx
19 di (log|secx + tanx|) = [ secx dx = 21 L3 (sin"1x) = 1 j 1 dx =sin"lx+c
* log|secx + tanx| + c dx 1—x2 VI — 22

secx
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20 % (log|cosecx — cotx|) = J cosecx dx = 22 a (tan~1x) = 1 f 1+1x2 dx=tanlx+c
_ 2
COSecx lcoglcosecx cotx| + dx 1+x
P e e A S J s = vt [t o]
—_ e = — = uv' ! uvdx =u | vdx — | (u' | vdx|dx
ax (secx ™' x) A1 IxaZ-1 Ix (uv) = uwv' + vu

secx 1x+ ¢
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